
2023 PRIMARY 5 ENQ .. QF .. YEAR EXAMINATION 

Name: _________ ( ) Date: 24 October 2023 

Class: Primary 5 ( ) Time: 8.00 a.m. - 9.00 a.mi

Pare"nt's Signature: ______ _ Marks: ___ / 100 

Paper 1 comprises :2 booklets, A and B. 

MATHEMATICS 

PAPER 1 

(BOOKLET A) 

INSTRUCTIONS TO CANDIDATE 

1. Write your name, class and register number.

2. Do not tum over this page until you are told to do so.

3. Follow all instructions carefully.

4. Answer all questions.

20 

5. Shade your answers in the Optical Answer Sheet (OAS) provided.

6. The use of calculators is NOT allowed.





















































SCHOOL : 
LEVEL 
SUBJECT : 
TERM 

 

TAO NAN SCHOOL 
PRIMA RY 5 
MATHEMATICS 
2023 SA2 

 

PAPER 1 (BOOKLET A) 

01 4 02 1 

06 1 Q? 2 

011 1 I Q12 1 
i 

PAPER 1 (BOOKLET B) 

Q16 3h 25min 

Q17 180.4 

Q18 1.15 

Q19 $3.20 

Q20 10kg 

Q21 21 

Q22 E 

Q23 $70 

Q24a Tand Q 

Q24b Tand S 

Q25 

Q26 Box 1 

Q27 10.3 

028 1 

-· -·····---··-·-··-··· ---· 

03 4 04 

08 3 Q9 

013 2 014 
. 

2 05 1 

2 Q10 2 

4 Q15 3 
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Q29 96 

Q30 40 

 

Paper 2 

Q1 Angle A = 180 – 60 = 120° 

Q2 Total units = 5u 
Units given to parents = 4u 
4u = $240 
1u = $60 
Amount Peter received = $60 ÷ 3 = $20 

Q3 Assume all are small 
25 x 8 = 200 
252 – 200 = 52 
12 – 8 = 4 
52 ÷ 4 = 13 

Q4 12.8L + (0.65L x 3) = 14.75L 

Q5 25min x 9 = 225min 
225min = 3h 45min = 33

4
 h 

Q6 Use guess and check method 
22 sweets 

Q7 3 - 0.4 = 2.6m 
2.6m ÷ 12 = 0.22m 

Q8 Volume of full tank = 100 x 80 x 50 = 400L 
Money needed = 400 x $0.65 = $260 

Q9 Total interest over 2 years = 0.05 x $90000 x 2 = $9000 
Total amount to be repaid = $900000 + $ 9000 = $99000 
Amount paid each month = $99000 ÷ 24 = $4125 

Q10 15cm – 4cm = 11cm 
Perimeter = (15 x 2) + (11 x 2) + (5 x 2) + (3 x 2) + (5 x 2) = 78cm  

Q11 Total playing time = 5h = 300min 
300min – 30min = 270min 
270 ÷ 3 = 90min 
A      :   B       :   C 
120 :   90    :    90 
4       :   3      :    3 

 



012a (1.42 + 1.43 + 1.37 + 1.26) + 4 = 1.37 m 
·-··········-•>< 

012b 
1.34 X 5 = 6.7 m 

6. 7 - 5 .48 = 1.22 m
•• ••••m~-••-• 

1 h 40 min + 15 min = 1 h 55 min = 115 min 

Duration of time from 9 am to 6.20 pm = 9 h 20 min = 560 min 

013 560 + 115 = 4 R 100 min 

100 min = 1 h 40 min - enough to make 1 more shirt but no break after 

Ans: 5 shirts 

Vol. of tank = 30 cm x 12 cm x 18 cm = 6480 ml 
014a 4 

Vol. of water = 6480 + 3 = 2160 ml= 2
25

€
·-·-

014b 
Vol. of half tank = 6480 + 2 = 3240 ml 

Vol. of water needed = 3240 - 2160 = 1080 ml = 1 € 80 ml 

Area of big square = 4 cm x 4 cm = 16 cm2 

015 Shaded area = 2 (1 x 3) = 6 cm2 

Unshaded area = 16 - 6 = 1 0 cm2 

· ·--·--· 

016a Grey = 9, total = 15 

016b 
Total white beads for Fig 21 = 2 + 4 + 6 + 8 + 10 + 12 + 14 + 16 + 18 + 20 
= 110 

·-·----� 

016c True, True 

6u = $480 

017 1 u = $80 

13u = $80 X 13 = $1040 
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